TIBURON HUD BATT BOX  16NOv2018

ISC p/n DESCRIPTION
A TBB-HUD BATT CAP-MP Removable cap for (+) contact
H | TBB-HUD BATT BOX-MP Main housing for HUD battery
N TBB-HUD BATT LID-MP Lid for housing with (-) contact
A B, D E F,2x‘ H J K L M N 0O,6x

- ‘_:-
-

ISC p/n DESCRIPTION
B OR-121 TBB CAP TO HEAD 121 O-ring, Buna N70
D BB-BATTERY LI-ION PF/SHW 3.6V SAFT Lithium-lon AA battery
E OR-117 TBB CAP TO BOX 117 O-ring, Buna N70
F OR-020 TBB BOX 020 O-ring, Buna N70
J OR-027 BOV HOSE ADAPTER 027 O-ring, Buna N70
K FST-SCREW D-SUB/HOLDER 4-40 x 3/16" S/S Phillips drive PH screw
L FST-SPRING TIBURON BATT NEG Spring for battery negative contact
M FST-WASHER TIBURON BATT NEG Washer for battery contact
@ FST-SCREW A4E MEG SOL PLUG 4-40 x 5/8" S/S Phillips drive panhead screw



	Slide 1

